	EXAM TECHNIQUE

USE THE COMMAND WORD EXPLAIN AND THE CONTEXT OF TYPE OF BUSINESS

	Question: Explain 3 reasons why an organisation would become a private limited company.  2009 q2a worth 3 marks

	Solution – theory point only:

• Has limited liability 

• Attract finance 
• Allows for economies of scale

• Less risk of liquidation

• Control is still not lost 
• Experience and skills can be gained
 (When the command word explain is used then there must be a development to explain the reason)

	Your task:  EXPLAIN 3 of the reasons given above.  You must ensure that it is clear that they are reasons for becoming a Ltd.

	 

	

	


